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QUESTION 1

You have a 2-node NetApp cluster with CIFS volumes and SAN LUNs on both nodes. The FC hosts have MPIO
correctly configured and see LUN paths through both NetApp nodes.

During a node failover, which two statements are true? (Choose two.)
A. FC hosts will not experience an outage.

B. FC hosts will experience an outage.

C. CIFS users will not experience any outage.

D. Some CIFS users may experience a brief share outage.

Correct Answer: BC

QUESTION 2

What are three advantages of configuring network subnets? (Choose three.)
A. The default gateway is automatically added to the SVM.

B. The DNS zone is automatically set on the NAS LIF.

C. The subnet mask is automatically set on the NAS LIF.

D. The flow control is automatically set on the port.

E. The IP address is automatically set on the NAS LIF.

Correct Answer:. ABE

QUESTION 3
You have a 4-node cluster with 2x AFF A300 and 2x FAS8200 controllers. One of the AFF A300 controllers

has a 50 TB FlexVol volume that needs an immediate read-write copy for standalone testing on one of the FAS8200
controllers.

Which two commands combined accomplish this task? (Choose two.)
A. volume rehost

B. volume clone create

C. volume move

D. volume clone split

Correct Answer: BD
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QUESTION 4

Click the Exhibit button.

clusterl

nodel node2 rode3 noded

| |

self-encrypting disks standard SAS disks

Referring to the exhibit, NetApp Storage Encryption is running on nodel and node2. You move voll from node2 to
node3.

How do you ensure that the data on voll remains encrypted?
A. Replicate voll to a SnapMirror volume on node2.

B. Enable NetApp Volume Encryption (NVE) on voll.

C. Disable deduplication on voll.

D. Install at least one shelf of self-encrypting disks on node3.

Correct Answer: B

QUESTION 5

You complete an installation of a FAS8200 that has two separate stacks of disk shelves. In this scenario, which NetApp
tool should be used to validate the disk shelf cabling?

A. Config Advisor

B. OnCommand System Manager
C. OnCommand Unified Manager
D. Hardware Universe

Correct Answer: A
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